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Review 7.5-7.7

Honors Algebra 2
1. Use logg2 = 0.4307 to approximate the value of logg4
oas(q‘) = oas@_ 'D \08 2+ \aasz
\o 2.y |
2. Use logs2 ~ 0.4307 and logg3 = 0.6826 to approximate the value of: D
a. log5£5 b. logs6 - |%$z 3 c. logg72 4 %
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3. Expand the following expressions
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4. Condense the following expressions
a. 4logpll - 6logy6

= \o%_‘n"‘ - \o%\_‘_ A
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b. logyz + %log7x —log72

= oy %% - log_2
= IO%_’% - 0%7 C%?
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5. Solve:

a.

\ogu IoX = ‘O%(oqo

% ouys dudk orsuers

logg10 +loggx = logg40 d.
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log4(m - 3) +log4(m +3) =2

‘og  (m-3(m+3) =2
\OX = WO o%‘-l
5 .
K= 4 = (m-Ym+3)
x=4] |
b= m- =9
25 s " ‘
*5 =m |m=s l
X= 3n _ 4504
b. 4*=20 e.. 6N _;Li n L\asn_q
‘O%H g% = lo&qzc l6g b \08%
L = sn-4
= 206 2n | 43
% l‘ogq a
)X %_Z.l(po? 3\'\\08,_‘3(.9 -Sn =-4
n (3l " = -H
s — |1, 12017
3log gl =5
¢ In3x=1 £ 4+365x=27
e' = 3x 3% -« 22
’ I X 2
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Ex= \n /3
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g logsn= }logs64 + $logg49

h.

i.

\083 (x-)(xx?) =

\o%sn ) ‘°853m - lo&sm
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logg(5 —2a) —logg(3a) = 1
09 . S5-2a z“ =
v 526
O a6
Ro. = S -2a
200 =5

logz(x — 3) + logz(x + 2) = log36

K'Z-)( -l = L

xz “-xXx=-12 =0
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=34
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j. 73 =go
n+ 3

\og_"? =b%‘78°

k 3" =¢gn2
n=-72
\o% R \C%hb
n-2)
e, 2 "
nbéu3 -n = -2
h(“’%b -1) = -2
N =
Iog 3- | 516‘1"!‘
I In(x+4)=4
el = x4y
-4 =x
50.59 % % x
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6. Evaluate: (:D 9

a. 3logy64+elm5 +1ogy/39
3(5) +5 + (-2

5 +5 -2
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7. Solve:
a. 510852x-log5(x-3) _ In X4
| X
R=3
5 °%5 = X+4
2% y
T X+
X=D

2% = xz +X =12
2 X2 =x=-\2
Challenge: 0= X

Solve logy [logp (log381)] =2

log Eloa?_ ("B-] =2
g, (D 7%
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o= (x -Dx+3)



